[SIZER[E  NAME DATE
et SUBTRACTIONS

Solve the following by using the count on or take from strategy ten and tick (J)
on the strategy you used.

Example:

a) Bill have 13 dollars. He spent 9 dollars. How many dollars Bill have?

13-9=4.
13 -9 10-9=1 /| Take from ten.
10/\3 1+3=4 Count on.

Bill has 4 dollars.

1) There are 18 parrots on the tree. 9 parrots fly away. How many parrots are
there on the tree?

18 -9=__

Take from ten.

Count on.

2) Dora has 14 bananas. She gave 9 bananas to her mother. How many bananas
Dora is left with?

14-9=__

Take from ten.

Count on.
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